
Schlipf	Precision	Ag																																																																														 	

	Kinze	3000	Series	vSetSelect	box	instructions			(price	$135	/	row)																											574-518-4693	
1)	Lower	planter	so	row	units	are	resting	on	floor	

2)	Remove	hopper	box,	seed	drive	chain		

3)	Remove	insecticide	box	and	support	panel	if	installed	

4)	Remove	OEM	hopper	support	panel,	row	unit	stops,	making	sure	to	have	row	unit	shank	supported	when	rear	upper	parallel	arm	
bolts	are	removed	

5)	Install	new	right	and	left	hopper	support	side	panels,	row	unit	stops,	leaving	bolts	loose.	

6)	When	installing	upper	parallel	arm	bolts	(new	5/8”x2	3/4”),	also	install	.5”	x	2.25”	spacer	between	goalpost	and	front	hopper	box	
mount		

7)	install	rear	hopper	support	cross	piece	to	side	panels	using	supplied	3/8”	x	¾”	carriage	bolts	and	serrated	nuts	(on	inside	of	
panels),	leaving	loose.	Install	lower	3/8”	bolt	removed	earlier	to	mount	cross	piece	to	cast	Kinze	depth	gauge	bracket.	The	hole	in	
the	casting	may	vary	,	requiring	a	lineup	punch	to	slightly	“egg	shape”	our	bracket	to	get	bolt	in.	

8)	Before	tightening	all	bolts,	make	sure	side	panels	are	level.	Tighten	all	bolts	double	checking	that	everything	stays	lined	up	and	
true	

9)	Remove	hopper	latch	from	Kinze	hopper	support	and	mount	in	same	way	on	new	hopper	support	

10)	Set	hopper	box	on	frame	and	check	meter	seed	exit	tube	to	seed	tube	alignment.	Making	sure	it	is	centered	side	to	side.	If	
necessary	a	5/8”	flat	washer	(supplied)	can	be	installed	between	goalpost	and	½”spacer	to	move	box	slightly	to	the	right	or	left	

	

Option:	

Adapter	for	Kinze	2000	series	and	JD	7000	planters		$18.50	

	


